7.5. Current Owl Buffer Policy. Suppose that the current policy regarding owl nest locations is to maintain a 100-acre no-harvest buffer around owl nest site locations. Develop a memo and a map for Ms Blaylock that describes the amount of land (acres) of the Brown Tract

that would be covered by the single owl buffer pertaining to this property.

If the buffer were to lie entirely within the Brown Tract, then the answer would be 100 acres. But this is not the case, so we need to buffer the owl nest location and clip the stands (or boundary) GIS database to determine how much of the Brown Tract lies inside the buffer.

A 100-acre buffer contains 4,356,000 square feet of land (43,560 square feet per acre). Using the formula for the area of a circle, we can arrive at the radius of the buffer:

area = ( (radius2)

(area / () = radius2 

(area / ()0.5 = radius

so,

(4,356,000 square feet / ()0.5 = 1,177.52 feet

Then buffering the Brown Tract owl nest location by 1,177.52 feet, and using this buffer to clip the stands GIS database, we find that 87.2 acres (35.3 hectares) of the Brown Tract lies inside the owl buffer.

